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compounds. Two groups of 3 pools each have been formed, keeping either the aromatic

or benzylic substitution constant and varying the other.

If there is no aromatic substitution, the performance is quite poor, although a

methyl  or CN at the α-benzyl is somewhat better than H. This is likely related to the

poor extinction coefficient in the absence of red-shifting electron-donating groups.

C1-C2-C3 comparison
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Dimethoxy substitution gives high efficiency; the best α -substituent is CN,

followed by methyl and H.


